StanleyBlack&Decker

PLAINA ELETRICA 750W

Posicao Peca Referéncia Qtde Garantia da peca / Meses
1 5140101-33 | SAPATA 1 24
2 5140101-34 | MOLA DA SAPATA 1 24
3 5140101-35 | ESFERA DE ACO 2 24
4 5140101-36 | MOLA 1 24
5 5140101-38 | ESCALA 1 24
6 5140101-39 | SUPORTE 1 24
7 5140101-40 | TAMPA DA MANOPLA 1 24
8 5140101-41 | PARAFUSO 4X10mm 2 24
9 5140101-42 | TAMPA 1 24
10 5140101-43 | PARAFUSO ARRUELA4X9.5MM 5 24
11 5140101-44 | MOLA 1 24
12 5140101-45 | PROTETOR DA LAMINA 1 24
13 5140160-73 | CONJ. COBERTURA 1 24
14 5140101-48 | TAMPA DO PORTA CARVAO 2 24
15 5140101-51 | PRESILHA DO CABOELETRICO 1 24
16 5140101-52 | PARAFUSO 4X16mm 15 24
17 5140101-54 | INTERRUPTOR 1 24
20 5140101-56 | TAMPA DO MOTOR 1 24
21 5140101-57 | PROTETOR DO CABOELETRICO 1 12
22 5140101-58 | PARAFUSO 4X60mm 3 24
24 5140101-60 | CON]J. ROTOR 220V 1 24
25 5140101-62 | ARRUELA DENTADA 2 24
27 5140101-63 | PARAFUSO DA GUIA 1 24
28 5140101-64 | PORCA M6 1 24
29 5140101-65 | CHAVE DIRECAO DA POEIRA 1 24
30 5140101-66 | DIRECIONADOR DE POEIRA 1 24
33 5140101-59 | ROLAMENTO DE ESFERAS 2 12
34 5140101-69 | CON]J. ROLETE E LAMINA 1 24
35 5140101-83 | PINO ©@3X55mm 1 24
36 5140101-84 | ESTATOR 220V 1 24
37 5140101-86 | DEFLETOR 1 24
38 5140101-87 | MOLA 1 24
39 5140101-88 | SUPORTE DA SAPATA FIXA 2 24
40 5140101-89 | BLOQUEIO DE RETORNO 1 24
41 5140101-90 | PLACA 1 24
42 5140101-91 | PARAFUSO 4X10mm 4 24
43 5140101-92 | CORREIA 1 24
44 5140101-93 | TAMPA DA CORREIA 1 24
47 5140101-94 | ROLAMENTO DE ESFERAS 1 12




48 5140101-95 | PROTETOR DO ROLAMENTO 1 12
50 5140101-96 | POLIA 1 24
51 5140101-97 | PORCA M8 1 24
52 5140101-98 | PROTETOR DA VENTONHIA 1 24
54 5140101-99 | ROLAMENTO DE ESFERAS 1 24
56 5140102-00 | POLIA 1 24
57 5140102-01 | PROTETOR DO ROLAMENTO 1 24
58 5140102-03 | CABO ELETRICO 1 12
61 5140102-08 | CHAVE DE BOCA 1 24
62 5140102-09 | ADAPTADOR DE ASPIRADOR 1 24
63 5140102-10 | GUIA 1 24
67 5140101-49 | PORTA CARVAO 2 24
68 5140101-50 | PAR DE ESCOVA DE CARVAO 2 12
69 5140101-72 | PARAFUSO M5X7mm 6 24
70 5140101-74 | SUPORTE DA LAMINA 2 24
71 5140101-76 | PARAFUSO M5X8mm 4 24
72 5140101-78 | FIXADOR DA LAMINA 2 24
821 5140160-74 | ETIQ. ESPECIF.STPP7502-B2 TIPO 1 1 12

STPP7502-B2 | PLAINA ELETRICA 750W 1 24




